

Falling Stummer Hor Autumn



AUTUMN ASSORTMENTS 30% OFF SELECT ITEMS HARVEST HUES



A. ASSORTED FALL EMBOSSED **GLASS VASES** 4 each of 3 colors. 3³/₄" dia. opening × 6¹/₄"H. \$30.69 ctn. of 12 (\$2.56 ea.) **30% OFF** \$21.48 ctn. of 12 (\$1.79 ea.) CU G3511



B. ASSORTED QUAPAW GLASS GATHERING VASES 3 each of 4 colors. 5" dia. opening × 8"H. \$56.57 ctn. of 12 (\$4.71 ea.) CU 7-899GLS-1QS



C. ASSORTED FALL GLASS **RECTANGULAR VASES** 4 each of 3 colors. 3¼"W × 2½"D × 6"H. \$30.69 ctn. of 12 (\$2.56 ea.) **30% OFF** \$21.48 ctn. of 12 (\$1.79 ea.) **CU G3510**



D. ASSORTED FALL GLASS CUBES 4 each of 3 colors. 4" sq. opening × 4¾"H. \$32.40 ctn. of 12 (\$2.70 ea.) 30% OFF \$22.68 ctn. of 12 (\$1.89 ea.) CU G3502





F. ASSORTED FALL GLASS GATHERING VASES 4 each of 3 colors. 3½" dia. opening × 6¼"H. \$27.26 ctn. of 12 (\$2.27 ea.) 30% OFF \$19.08 ctn. of 12 (\$1.59 ea.) CU G3509



 $\mbox{\bf G.}$ ASSORTED FALL SWIRLED GLASS VASES 4 each of 3 colors. 30% of \$2.84 ea.)
30% OFF \$23.88 ctn. of 12 (\$1.99 ea.)



H. ASSORTED QUAPAW SWIRLED GLASS VASES 3 each of 4 colors. 4" dia. opening × 8"H. \$41.14 ctn. of 12 (\$3.43 ea.) CU 7-793GLS-1QS



J. ASSORTED QUAPAW FROSTED **GLASS VASES** 3 each of 4 colors. 4" dia. opening × 7"H. \$29.83 ctn. of 12 (\$2.49 ea.) CU 4-580GLS-1QF



K. ASSORTED NEW MEXICO GLASS VASES WITH ROPE HANDLE Available in 2 sizes. 4 each of 3 colors. $2\frac{1}{4}$ " dia. opening × $6\frac{1}{2}$ "H. \$28.80 ctn. of 12 (\$2.40 ea.) CU 7-977GLS-1NM $2^{3}4''$ dia. opening × $7^{3}4''$ H. \$41.42 ctn. of 12 (\$3.45 ea.) CU 7-978GLS-1NM



L. ASSORTED FROSTED SANTA FE GLASS JARS WITH ROPE HANDLE 4 each of 3 colors. 2¾" dia. opening × 5½"H. \$29.83 ctn. of 12 (\$2.49 ea.) CU 4-083GLS-1SFE



M. ASSORTED QUAPAW FROSTED SWIRL GLASS VASES 3 each of 4 colors. 4" dia. opening × 8¾"H. \$46.29 ctn. of 12 (\$3.86 ea.) CU 7-063GLS-1QF



N. ASSORTED NEW MEXICO TEXTURED GLASS VASES 2 each of 3 colors. 5½" dia. opening × 7½"H. \$26.94 ctn. of 6 (\$4.49 ea.) CU 7-979GLS-1NM



P. ASSORTED NEW MEXICO **GLASS BUD VASES** 8 each of 3 colors. 1½" dia. opening × 8½"H. \$34.97 ctn. of 24 (\$1.46 ea.) CU 7-829GLS-1NM



Q. ASSORTED QUAPAW FROSTED **GLASS GATHERING VASES** 3 each of 4 colors. 5" dia. opening × 12"H. \$72.00 ctn. of 12 (\$6.00 ea.) CU 9-236GLS-1QF

R. ASSORTED QUAPAW FROSTED GLASS HEXAGON VASES Available in 2 sizes. 3 each of 4 colors. 4½" dia. opening × 7½"H. \$46.29 ctn. of 12 (\$3.86 ea.) CU 7-462GLS-1QF 2 each of 4 colors. 5" dia. opening × 91/4"H. \$47.31 ctn. of 8 (\$5.91 ea.) CU 7-463GLS-1QF



AUTUMN ASSORTMENTS FALL FAVES



A. ASSORTED FALL OMBRE GLASS MASON JARS WITH LEAF ACCENT

Available in 2 sizes. 2¼" dia. opening × 5¼"H. \$79.20 ctn. of 24 (\$3.30 ea.) CU 9735948

2¾" dia. opening × 6½"H. \$71.49 ctn. of 18 (\$3.97 ea.) **CU 9736157**



D. ASSORTED GLASS VASES WITH METAL LEAVES 2 each of 3 colors.

4" dia. opening × 6¼"H. \$32.91 ctn. of 6 (\$5.49 ea.) CU 7-841GLS-1LF



B. ASSORTED QUAPAW GLASS MASON JARS WITH LEAF ACCENT AND HANDLE Available in 2 sizes.

6 each of 4 colors. 2¾" dia. opening × 5¼"H. \$63.77 ctn. of 24 (\$2.66 ea.) CU 4-501GLS-1QV

3 each of 4 colors. 3¼" dia. opening × 6½"H. \$39.09 ctn. of 12 (\$3.26 ea.) CU 4-502GLS-1QV



E. ASSORTED FALL FROSTED GLASS VASES WITH RAFFIA AND METAL LEAF

6 each of 4 colors. 1¼" dia. opening × 6¼"H. \$63.00 ctn. of 24 (\$2.63 ea.) CU 9730205



C. ASSORTED FROSTED RIBBED GLASS VASES WITH ROPE AND METAL LEAVES

3 each of 4 colors. 4" dia. opening × 6½"H. \$52.46 ctn. of 12 (\$4.37 ea.) CU 4-516GLS-1QML



F. ASSORTED FROSTED GLASS VASES WITH ROPE AND METAL LEAVES

3 each of 4 colors. 3½" dia. opening × 6½"H. \$38.06 ctn. of 12 (\$3.17 ea.) CU 9-952GLS-1QML



G. ASSORTED FALL FROSTED GLASS VASES WITH ROPE AND METAL LEAVES

6 each of 4 colors. 2" dia. opening × 7¾"H. \$53.49 ctn. of 24 (\$2.23 ea.) CU 6-631GLS-1QML

H. ASSORTED FALL SWIRLED GLASS VASES WITH ROPE AND LEAVES

2 each of 3 colors. 4" dia. opening × 8"H. \$24.16 ctn. of 6 (\$4.03 ea.) CU 7-793GLS-1ML

J. ASSORTED SCARECROW PICS

6 each of 4 styles. 3"W × 7"H. 18"OH. \$23.70 ctn. of 24 (\$0.99 ea.) CU 9733681

K. ASSORTED SCARECROW HEAD PICS

6 each of 4 styles. 3½"W × 2"D × 5"H. 12"OH. \$20.40 ctn. of 24 (\$0.85 ea.) CU 9733685





L. ASSORTED FALL COLOR WOODEN BIRDHOUSE PLANTERS

1 each of 4 colors. 4¼"W × 4½"D × 5½"H. \$30.40 ctn. of 4 (\$7.60 ea.) CU 9734266

M. ASSORTED FALL WOODCHIP POTCOVERS

Available in 2 sizes. PVC liners included. 2 each of 6 colors.

4½" dia. opening × 4½"H. \$28.00 ctn. of 12 (\$2.33 ea.) **CU 9719862**

7" dia. opening × 6"H. \$40.64 ctn. of 12 (\$3.39 ea.) CU 9719863



N. ASSORTED METAL POTCOVERS WITH TAG

Hard liners included. 2 each of 4 colors. 7" dia. opening \times 5 3 /4"H. Fits a 6" grower's pot. \$42.99 ctn. of 8 (\$5.37 ea.) CU 9730523



Q. ASSORTED FALL SPLITWOOD BASKETS

Available in 3 sizes. Hard liners included. 5%" dia. opening × 3½"H. \$80.64 ctn. of 24 (\$3.36 ea.) CU 1-135B-1QS 6 each of 4 colors

8" dia. opening × 4"H. \$105.60 ctn. of 24 (\$4.40 ea.) CU 1-158B-1QS

3 each of 4 colors. 10" dia. opening × 4"H. \$68.16 ctn. of 12 (\$5.68 ea.) CU 1-159B-1QS



P. ASSORTED FALL BAMBOO POTCOVERS

Available in 3 sizes. PVC liners included. 2 each of 6 colors.

4½" dia. opening × 4½"H. \$17.92 ctn. of 12 (\$1.49 ea.) CU 9734258

6¾" dia. opening × 6¼"H. \$22.88 ctn. of 12 (\$1.91 ea.) CU 9734259

 $8\frac{1}{2}$ " dia. opening × $5\frac{1}{2}$ "H. \$31.04 ctn. of 12 (\$2.59 ea.) CU 9737241





R. ASSORTED FALL SPLITWOOD POTCOVERS

Available in 2 sizes. Hard liners included. 6 each of 4 colors.

4¾" dia. opening × 4¼"H. Fits a 4½" grower's pot. \$59.52 ctn. of 24 (\$2.48 ea.) CU 3-169B-1QS

6¾" dia. opening × 6"H. Fits a 6½" grower's pot. \$80.64 ctn. of 24 (\$3.36 ea.) CU 3-203B-1QS



S. ASSORTED VINTAGE SPLITWOOD POTCOVERS WITH METAL HANDLES Available in 2 sizes. Hard liners included.

12 each of 4 colors. 7" dia. opening × 6"H. Fits a 6½" azalea pot. \$245.76 ctn. of 48 (\$5.12 ea.) CU 3-203BB-1VC Ships late August

9 each of 4 colors. 11" dia. opening × 8"H. Fits a 10" azalea pot. \$267.84 ctn. of 36 (\$7.44 ea.)

CU 2-447BB-1VC Ships late August

AUTUMN ASSORTMENTS 30% OFF SELECT ITEMS METAL MENAGERIE



A. ASSORTED FALL CANE METAL VASES WITH BURLAP Includes glass vase.

2 each of 3 colors. 4¼" dia. opening × 8¼"H. \$48.82 ctn. of 6 (\$8.14 ea.) **CU 7-343MT-1FC**



B. ASSORTED VINTAGE PUMPKIN METAL VASES

Hard liners included. 6 each of 2 designs. 4¾" dia. opening × 8¼"H. \$66.86 ctn. of 12 (\$5.57 ea.) CU 8-330MT-1VPM



C. PUMPKIN FESTIVAL METAL PLANTER WITH ROPE HANDLES

Available in 2 sizes. Hard liners included. 9¼"W × 5"D × 4"H. Fits two 4½" grower's pots. \$50.88 ctn. of 12 (\$4.24 ea.) CU 2-835MT-1PMK

13¾"W × 7½"D × 6"H Fits two 6½" azalea pots. \$52.20 ctn. of 8 (\$6.53 ea.) CU 2-188MT-1PMK



D. ASSORTED FALL CANE METAL POTCOVERS WITH BURLAP

Available in 2 sizes. Hard liners included.

16 each of 3 colors. 4¾" dia. opening × 4½"H. \$142.08 ctn. of 48 (\$2.96 ea.) CU 3-169MT-1FC

12 each of 3 colors 7" dia. opening × 61/4"H. Fits a 6½" azalea pot. \$164.16 ctn. of 36 (\$4.56 ea.) CU 3-203MT-1FC



E. ASSORTED VINTAGE PUMPKIN METAL POTCOVERS

Available in 2 sizes. Hard liners included. 12 each of 2 designs.

4¾" dia. opening × 4½"H. Fits a 4½" grower's pot. \$62.98 ctn. of 24 (\$2.62 ea.) CU 3-169MT-1VPM

7" dia. opening × 6"H Fits a 6½" azalea pot. \$98.98 ctn. of 24 (\$4.12 ea.) CU 3-203MT-1VPM



F. PUMPKIN FESTIVAL METAL POTCOVERS WITH ROPE HANDLES

Available in 2 sizes. Hard liners included

4¾" dia. opening × 4¼"H. Fits a 4½" grower's pot. \$33.60 ctn. of 12 (\$2.80 ea.) CU 3-169MT-1PMK

7" dia. opening × 6"H. Fits a 6½" azalea pot \$48.00 ctn. of 12 (\$4.00 ea.) CU 3-203MT-1PMK

> 2 size options



G. ASSORTED FALL CUT-OUT

METAL POTCOVERS Available in 2 sizes. Hard liners included.

8 each of 3 colors. o each of 3 colors. 4¾" dia. opening × 4"H. \$75.09 ctn. of 24 (\$3.13 ea.) 30% OFF \$52.56 ctn. of 24 (\$2.19 ea.) CU M4745

4 each of 3 colors. 7" dia. opening × 5½"H. \$58.11 ctn. of 12 (\$4.84 ea.) **30% OFF** \$40.68 ctn. of 12 (\$3.39 ea.) **CU M4746**



Available in 2 sizes. Hard liners included. 8 each of 3 colors. 4¾" dia. opening × 4"H. \$75.09 ctn. of 24 (\$3.13 ea.) **30% OFF** \$52.56 ctn. of 24 (\$2.19 ea.)

CU M8464 4 each of 3 colors.

7" dia. opening × 5½"H. \$58.11 ctn. of 12 (\$4.84 ea.) **30% OFF** \$40.68 ctn. of 12 (\$3.39 ea.) CU M8465

J. ASSORTED FALL GALVANIZED METAL POTCOVERS

PVC liners included. 6 each of 2 designs. $4\frac{3}{4}$ " dia. opening × $4\frac{1}{2}$ "H. \$32.00 ctn. of 12 (\$2.67 ea.) CU 1949206



K. ASSORTED VINTAGE SUNFLOWER METAL MILK JUG VASES

Hard liners included. 3 each of 2 colors. 6½" dia. opening × 9½"H. \$68.64 ctn. of 6 (\$11.44 ea.) CU 6-002MT-1VSF



L. ASSORTED VINTAGE SUNFLOWER METAL PITCHERS

2 each of 2 colors. 5" dia. opening × 10"H. 9½"OW. \$41.70 ctn. of 4 (\$10.43 ea.) CU 6-005MT-1VSF





M. ASSORTED VINTAGE SUNFLOWER METAL PLANTERS

6 each of 2 colors. 9½" × 5" opening × 4½"H. Fits two 4½" grower pots. \$75.84 ctn. of 12 (\$6.32 ea.) CU 2-835MT-1VSF



N. ASSORTED METAL SUNFLOWER POTCOVERS WITH HANDLE Hard liners included. 8 each of 3 colors.

7" dia. opening × 6"H. Fits a 6½" azalea pot. \$113.40 ctn. of 24 (\$4.73 ea.) CU 1-725MT-1SF



P. ASSORTED SUNFLOWER EMBOSSED METAL **TEACUP PLANTERS WITH ATTACHED SAUCER** Hard liners included. 2 each of 3 colors.

5" dia. opening × 4½"H. \$36.80 ctn. of 6 (\$6.13 ea.) CU 9727925



Q. ASSORTED VINTAGE SUNFLOWER METAL POTCOVERS

Available in 2 sizes. Hard liners included. 12 each of 2 colors.

 $4\frac{1}{2}$ " dia. opening × $4\frac{1}{2}$ " H. Fits a $4\frac{1}{2}$ " grower's pot. \$74.88 ctn. of 24 (\$3.12 ea.) CU 3-169MT-1VSF

7" dia. opening × 6"H. Fits a 6½" azalea pot. \$117.00 ctn. of 24 (\$4.88 ea.) CU 3-203MT-1VSF



R. ASSORTED METAL POTCOVERS WITH HANGING SUNFLOWER

Hard liners included. Available in 2 sizes.

8 each of 3 colors. 4¼" dia. opening × 4¼"H. \$92.23 ctn. of 24 (\$3.84 ea.) **30% OFF** \$64.56 ctn. of 24 (\$2.69 ea.) CU M545

4 each of 3 colors. 7" dia. opening × 5½"H. \$61.54 ctn. of 12 (\$5.13 ea.) **30% OFF** \$43.08 ctn. of 12 (\$3.59 ea.) **CU M546**



S. ASSORTED METAL OVAL PLANTERS WITH HANGING SUNFLOWER

Hard liners included. 4 each of 3 colors. 8½"W × 4¼"D × 4"H. \$59.83 ctn. of 12 (\$4.99 ea.) 30% OFF \$41.88 ctn. of 12 (\$3.49 ea.) CU M547

T. WOOD SUNFLOWER PIC 3"W × 3"H. 13½"OH. \$30.17 ctn. of 48 (\$0.63 ea.) CU 9-747K-1SF



AUTUMN ASSORTMENTS FREE SHIPPING* GLEAMING GLASSWARE



FREE SHIPPING

A. GOLD METAL-TRIMMED GLASS PLANTERS

Available in 3 shapes. Does not hold water. For use with air plants or event work.

Cube $4\frac{3}{4}$ " opening × $4\frac{1}{2}$ "H. \$64.88 ctn. of 6 (\$10.81 ea.) CU FTG312

Dodecahedron 7" opening \times 7%"H. \$54.23 ctn. of 4 (\$13.56 ea.) CU FTG615

Pyramid 6" opening × 7½"H. \$85.88 ctn. of 6 (\$14.31 ea.) CU FTG220



FREE SHIPPING

B. HANDBLOWN GLASS CUBE 4" sq. opening × 4"H. \$22.32 ctn. of 8 (\$2.79 ea.) CU FTG444



C. ASSORTED GLASS BUD VASES 3 styles included. Style count may vary. 1¼" dia. opening × 6"H. \$26.43 ctn. of 24 (\$1.10 ea.) CU 4063-24-09



FREE SHIPPING

D. DIAMOND TEXTURED **GLASS BUD VASE** 2" dia. opening × 6¾"H. \$16.99 ctn. of 12 (\$1.42 ea.) **CU FG7600**



E. GLASS SQUARE BUD VASE $1\frac{3}{4}$ " sq. opening × $7\frac{1}{2}$ " H. \$19.88 ctn. of 12 (\$1.66 ea.) CU FG1356



F. RIBBED GLASS VASES Available in 2 sizes. 3¼" dia. opening × 7¼"H. \$30.88 ctn. of 12 (\$2.57 ea.) CU FG5601

3½" dia. opening × 9¾"H. \$28.88 ctn. of 8 (\$3.61 ea.) CU FG5600



G. TEXTURED GLASS VASE 3" dia. opening × 7½"H. \$34.88 ctn. of 12 (\$2.91 ea.) CU FG5603



H. GLASS MASON JAR WITH HANDLE 4½" dia. opening × 7¾"H. \$25.62 ctn. of 6 (\$4.27 ea.) CU FTG5256



FREE SHIPPING
J. GLASS URNS Available in 3 sizes. 3¼" dia. opening × 7"H. \$35.88 ctn. of 12 (\$2.99 ea.) CU 4035-12-09 4¼" dia. opening × 8¾"H. \$44.07 ctn. of 12 (\$3.67 ea.) CU 4036-12-09 5" dia. opening × 10 %"H. \$32.06 ctn. of 6 (\$5.34 ea.) CU 4042-06-09



L. GLASS ROSE VASE 3¾" dia. opening × 8"H. 23.93 ctn. of 12 (\$1.99 ea.) CU 4999-12-09



FREE SHIPPING P. GLASS ATHENA VASE 5" dia. opening × 8"H. \$53.00 ctn. of 9 (\$5.89 ea.) CU 4027-09-09





M. GLASS GATHERING VASE 3½" dia. opening × 6½"H. \$27.48 ctn. of 12 (\$2.29 ea.) CU 4142-12-09



Q. GLASS TRUMPET VASE 5%" dia. opening × 9"H. \$78.71 ctn. of 12 \$6.56 ea.) CU 4023-12-09



FREE SHIPPING N. GLASS MILK JUG VASE 2¼" dia. opening × 7½"H. \$69.21 ctn. of 24 (\$2.88 ea.) CU 4015-24-09



R. GLASS FRENCH VASES Available in 2 sizes. 4¾" dia. opening × 10"H. \$36.88 ctn. of 6 (\$6.15 ea.) CU G307 5³/₄" dia. opening × 12"H. \$52.88 ctn. of 6 (\$8.81 ea.) CU G309

AUTUMN ASSORTMENTS FREE SHIPPING* BOUNTIFUL BASKETS



FREE SHIPPING

A. BUFF WOODCHIP POTCOVER A. BOFF WOODCHIP POICC Hard liners included. 7" dia. opening × 6¼"H. Fits a 6" grower's pot. \$47.49 ctn. of 12 (\$3.96 ea.) CU 2095*



FREE SHIPPING

B. ASSORTED BUFF WOODCHIP BASKETS Hard liners included. Moveable handle. 4 each of 3 shapes. Rectangular: $7" \times 5"$ opening $\times 4\frac{1}{2}"H$. Oval: 7½" × 6" opening × 5"H. Round: 6" dia. opening × 5"H. \$45.94 ctn. of 12 (\$3.83 ea.) CU 86295*



FREE SHIPPING

C. ASSORTED BUFF WOODCHIP **OVAL BASKETS**

Hard liners included. Moveable handle. 4 each of 3 sizes. Small: 8½" × 7" opening × 3¾"H.

Medium: 10" × 9" opening × 4¼"H.

Large: 11¾" × 10½" opening × 5"H. \$95.94 ctn. of 12 (\$7.99 ea.) CU 2097*



ERFE SHIPPING

D. ASSORTED WHITEWASH WOODCHIP BASKETS Hard liners included. Moveable handle. 6 each of 2 sizes. 6 each of 2 sizes. Small: 6" dia. opening × 5"H. 9¾"OH. Large: 8" dia. opening × 6"H. 11¾"OH. \$67.88 ctn. of 12 (\$5.66 ea.) CU 856RDW* Ships 8/16/19



FREE SHIPPING

E. ASSORTED BUFF WOODCHIP BASKETS Hard liners included. Moveable handle. 4 each of 3 sizes.

Small: 7" × 9¾" opening × 4¾"H.

Medium: 8¾" × 10¾" opening × 5"H.

Large: 9¼" × 12¾" opening 5½"H.

\$92.40 ctn. of 12 (\$7.70 ea.) CU 85623*



FREE SHIPPING

F. BUFF WOODCHIP BASKET S Available in 2 shapes Hard liners included. Moveable handle.

Round 9" dia. opening × 41/2"H. \$67.88 ctn. of 12 (\$5.66 ea.) **CU BWC9***

Rectangular $8" \times 11"$ opening $\times 5"H$. \$106.20 ctn. of 18 (\$5.90 ea.) CU 2131*





G. STRAW POTCOVERS Available in 2 sizes. Sewn-in liners included.

7" dia. opening × 6¼"H. Fits a 6" grower's pot. \$114.29 ctn. of 50 (\$2.29 ea.) CU C736*

103/4" dia. opening × 9"H. Fits an 8" grower's pot. \$192.67 ctn. of 50 (\$3.85 ea.) CU C735*

FREE SHIPPING

H. WHITEWASH BAMBOO POTCOVERS

Available in 2 sizes. Over-the-rim hard liners included.

7" dia. opening × 5½"H. Fits a 6" grower's pot. \$44.12 ctn. of 24 (\$1.84 ea.) CU 6051GW*

9" dia. opening × 7¼"H. Fits an 8" azalea pot. \$41.14 ctn. of 12 (\$3.43 ea.) CU 6054GW*

FREE SHIPPING

J. VINE BASKET

Hard liners included. 6" dia. opening × 3¾"H. \$64.12 ctn. of 24 (\$2.67 ea.) CU 82256*

FREE SHIPPING
K. ASSORTED VINE BASKETS

Hard liners included. 4 each of 5 sizes. 6½", 7", 8", 9" and 10" openings. \$71.14 ctn. of 20 (\$3.56 ea.) CU 8235*

L. ASSORTED UNPEELED WILLOW OVAL BASKETS

Hard liners included. 4 each of 3 sizes.

Small: 8" × 9" opening × 4"H.

Medium: 9" × 10½" opening × 4½"H.

Large: 10½" × 12" opening × 5"H.

\$89.54 ctn. of 12 (\$7.46 ea.) CU 8233*



M. ASSORTED LARGE VINE BASKETS Hard liners included. 2 each of 3 sizes. 10", 12" and 15" openings. \$78.40 ctn. of 6 (\$13.07 ea.) **CU F1501***



Q. ASSORTED DRIFTWOOD STAINED WILLOW BASKETS

Hard liners included. 4 each of 4 sizes. That differs included. 4 each of 4 sizes. Small: 8" × 12" opening × 4¾"H. Medium: 9" × 14" opening × 5"H. Large: 11½" × 15½" opening × 5½"H. Extra Large: 13¼" × 17" opening × 5½"H. \$122.29 ctn. of 16 (\$7.64 ea.) CU 2511DW*



N. ASSORTED ANTIQUE STAINED **DISHGARDENS WITH HANDLES** Over-the-rim hard liners included.

5 each of 3 sizes. Small: 8" dia. opening × 3¾"H. Medium: 10" dia. opening × 4"H. Large: 12" dia. opening × 41/4"H. \$65.28 ctn. of 15 (\$4.35 ea.)



R. ASSORTED DRIFTWOOD STAINED WILLOW BASKETS

Hard liners included. 4 each of 3 sizes. Small: 10"× 6" opening × 5"H. Medium: 12"× 8" opening× 6"H. Large: 14"× 10" opening× 7"H. \$121.54 ctn. of 12 (\$10.13 ea.) CU 643DW*



P. ASSORTED STAINED WILLOW

AND ROPE BASKETS
Hard liners included. 3 assorted shapes.
Oval (2 sets): 10", 12" and 14".
Round (1 set): 8½", 10½" and 12½".
Rectangular (1 set): 9½", 11¾" and 14".

\$92.88 ctn. of 12 (\$7.74 ea.) CU F80503*



S. ASSORTED DRIFTWOOD STAINED WILLOW BASKETS

Hard liners included. 4 each of 3 sizes. Small: $10\frac{1}{2}$ " × 8" opening × $4\frac{1}{2}$ "H. Medium: $11\frac{1}{2}$ " × $9\frac{1}{4}$ " opening × $4\frac{3}{4}$ "H. Large: 14" × 10½" opening × 5"H. \$121.54 ctn. of 12 (\$10.13 ea.) CU 2495DW*

AUTUMN ASSORTMENTS 25% - 40% OFF RUSTIC WOODS





A. MULTI-BLOCK WOOD BASKET Hard liners included. 6½" dia. opening × 4"H. \$122.40 ctn. of 24 (\$5.10 ea.) 35% OFF \$79.56 ctn. of 24 (\$3.32 ea.) CLI WD7664

B. MULTI-BLOCK WOOD PLANTERS Available in 3 sizes. Hard liners included. 5½" sq. opening × 6½"H. \$68.88 ctn. of 12 (\$5.74 ea.) 35% OFF \$44.77 ctn. of 12 (\$3.73 ea.) CU WD7645

5" × 7" opening × 3½"H. \$65.14 ctn. of 12 (\$5.43 ea.) **35% OFF** \$42.34 ctn. of 12 (\$3.53 ea.) **CU WD7646**

7½" sq. opening × 3½"H. \$68.88 ctn. of 12 (\$5.74 ea.) **35% OFF** \$44.77 ctn. of 12 (\$3.73 ea.) **CU WD7644**



C. ANTIQUED WOOD SQUARE PLANTERS WITH GALVANIZED METAL

Available in 2 sizes. Hard liners included.

4½" sq. opening × 4"H. \$51.26 ctn. of 12 (\$4.27 ea.) **35% OFF** \$33.32 ctn. of 12 (\$2.78 ea.)

CU WD7629

55\" sq. opening × 6\"H. \$94.11 ctn. of 12 (\$7.84 ea.) 35\" OFF \$61.17 ctn. of 12 (\$5.10 ea.) CU WD7623



D. STAINED WOOD CUBES WITH METAL TRIM Available in 2 sizes. Hard liners included. 5" sq. opening × 5"H.

\$78.34 ctn. of 12 (\$6.53 ea.) **30% OFF** \$54.84 ctn. of 12 (\$4.57 ea.) **CU WD1075**

6" sq. opening × 6½"H. \$50.74 ctn. of 6 (\$8.46 ea.) **30% OFF** \$35.52 ctn. of 6 (\$5.92 ea.) **CU WD1071**



E. WOODEN PUMPKIN PLANTERS
Available in 2 sizes. Hard liners included.
4½" opening × 5"H.
\$68.40 ctn. of 12 (\$5.70 ea.)
25% OFF \$51.30 ctn. of 12 (\$4.28 ea.)
CU W64541
4½" × 6½" opening × 8"H.

4¼" × 6¼" opening × 8"H. \$95.83 ctn. of 12 (\$7.99 ea.) 40% OFF \$57.50 ctn. of 12 (\$4.79 ea.) CU W64543



F. ANTIQUED WOOD RECTANGULAR PLANTER WITH GALVANIZED METAL

Hard liners included. 6" × 10" opening × 3½"H. \$94.11 ctn. of 12 (\$7.84 ea.) 35% OFF \$61.17 ctn. of 12 (\$5.10 ea.) CU WD7624



G. ASSORTED WOODEN PUMPKIN PLANTERS 6 each of 2 styles. Hard liners included. 4½" opening × 5"H. \$91.89 ctn. of 12 (\$7.66 ea.) 30% OFF \$64.32 ctn. of 12 (\$5.36 ea.) CIJ W81971



H. WOODEN DOUBLE PUMPKIN PLANTER 4½" × 11½" opening × 8"H. \$153.43 ctn. of 12 (\$12.79 ea.) 40% OFF \$92.06 ctn. of 12 (\$7.67 ea.) CU W64542

FTDMARKETPLACE.COM SHOPPING SITE!

To view all of our monthly specials, visit www.ftdi.com/promotions

STAY CONNECTED!

f facebook.com/MercuryNetwork

instagram.com/MercuryNetwork

youtube.com/FTDMercuryNetwork

blog.ftdi.com

PHONE: 800.767.4000 | FAX: 630.719.4861 | MERCURY: 90-0233AA



Offers valid 08/01/19 through 08/30/19 or while supplies last. Offer available for members in Continental U.S. and Canada only. Items not available to ship to Alaska, Hawaii and Puerto Rico. Offer not valid on existing or previously placed orders and cannot be combined with any other offers or discounts. Discounts on items are for immediate shipping only, not on future orders. FTD may update these terms or cease any offer at any time. Any dispute regarding offers or orders will be governed by the terms of your FTD member agreement and the terms found at www.ftdi.com. Prices are subject to change. FTD reserves the right oacept or reject orders. Descriptive or typographical errors are subject to correction. Canadian members will be billed in Canadian dollars. Canadian prices are calculated by multiplying the U.S. price by the prior month's average exchange rate (as calculated by FTD. The exchange rate is updated on or about the first business day of each month, it will apply on the date the order is accepted by FTD. Prices do not include freight. FTD shipping and handling charges are 20% of the value of each carton with a minimum of \$7.99 per carton for Canada. "A Registered Trademark of Florists' Transworld Delivery, Inc.
"A Trademark of Florists' Transworld Delivery, Inc. ©2019 Florists' Transworld Delivery, Inc. Printed in the USA.